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1. wn@gpenLw usnLQuBly wymsSHw  CuiyyHles

ailp&Hsg snaywessfl 19558

(1) Brgliesm

(=p) 21508 63T ALISHTE

(@) wawsi epn

(FF) gL (pseiT

The invasion of gave a severe death blow to the
Maratha empire

(A) Nadir Shah (B) Ahmad Shah Abdali
(C) Muhammed Shah (D) Jats

2. @nHwuneller by uEd, Sl QOHWD

Seflreunglseflest Qamjssons: &@HsUIULLS)

(=) LGs

(&) unevsToE@aifl

Which place in India become a heaven for the
feeling terrorists?

(A) Mahe (B) Bangalore
(C) Pondicherry (D) Karaikal

3. 9w FIYSHms Cxnhmiailsseury
(=) pregmymbd GuonmgesTymul

() QUrsEDT

(FF) BMeny&asney

(=p) F6umd) sWnesTbg Frerveud)

(&) @umonrregy

() FmismEETHWITY

Arya Samaj was found by

(A) Raja Ram Mohan rai

(B) Swamy Dayananda Saraswathi

(C) Ramanujar

(D) Sankarachariyar

4. feagdl wn@BLeT UNhST 2L 60TLIgSHe0s
Q&g & mesoTLIT}

() g Qegudrs

(op) SiLE6sT6sT

(®) QawllervLamest

(/) Brgliapm

Treaty of Purandhar was signed between
_________ and Shivaji.

Learning Leads To Ruling

(A) Raja Jai Singh

(B) Afzalkhan

(C) Shaistakhan

(D) Nadir Shah

5. 1789 G 3lb Bm6T SHevorsHGLiLly &L L CILIMDLO6T

&UUS5Tens Hleylemeu eTeuausrey?

(=) 3210 UGsMLMGSH6MT

(=p) 3110 LG&MLTSS6IT

(®) 3410 LGS TLT&&6T

() 3310 LGsHMLT&S6IT

By the 31 May 1789 the total arrears of tribute from

Kattabomman amounted Pagodas

(A) 3210 Pagodas (B) 3110 Pagodas

(C) 3410 Pagodas (D) 3310 Pagodas

6. 1902 o410 pevo1(h QHHWL LeOILS HemuHwns

@ndHwneiliE aumens Lflbgeuf wmj?

(=1) Bletr@LT Niyy

(&) &gevmy LNy () ifigras LAy

Who came to India as the new commander in Chief
of the Indian aronies in 1902?

(=) &80T STy

(A) Lord Minto (B) Lord Curzon

(C) Lord Kitchner (D) Lord Reading

7. wagmev etettm QUWI CF6sTEM6TT 6T68T DSy

LLjeuLons: LomHmLILILL 4,6501( 6157

(1) 1990 (=) 1993

(@) 1996 () 1999

In which year, name Chennai from Madras was
officially changed?

(A)1990 (B) 1993

(C) 1996 (D) 1999

8. m.Qeu.gmeuney QFNLBISLUULL Fipsmu FTHHSS
QussLD 6T60T60T?

(o) serllB101) Quisid

(=) swoflwnens Quisswd

(@) L oIy GwssD

(7)) SevsTLMEMLO ETHITLIL UISSHLD
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Name the social movement started by E.V.R

(A) Thanithamil Iyakkam

(B) Self Respect movement

(C) Civil Disobedience movement

(D) Anti untouchability movement

9. guUlp Gomlullest GHILT  eugevnmHledT

wHUSILIULL STevld

(=) 3500 eu(pLMBiG6IT

(=) 2500 6u(mHLrEISH6TT

(@) 1500 6u(BL a6l

(FF) 400 eu(pLraI&6T

The length of the history of the Tamil language is
estimated as

(A) 3500 years (B) 2500 years

(C) 1500 years (D) 400 years

10. &y unevangw &1L Qumboesflstt HmevsHlett Gung)

@ndlwneailest seujeuty QegevTFevns: @ (HHSH6uT Wj?

(1) Geusv@eveivel) LNLy

(=) &Fggm6tT Garpmy

(@) &7 sgmiyey umyGeorm

() Gametuigréeny Ll

Who was the governor general of India during the

time of Vira Pandya Kattabomman?

(A) Lord Wellesley

(B) Sir John Shore

(C) Sir George Barlow

(D) Lord Hastings

11. &mnests: Himieflw Fwowb

(=1) unmFd swWID (op) &S wid

(@) evggevriog b () UgSIogLd

The religion founded by Guru Nanak

(A) Parsi religion (B) Sikhism

(C) Jainism (D) Buddhism

12. @5lw sevngennsSlett opzmyomil eflenmiGeug)

61517

(1) epgGasEmeT 0F5H60

(=) Camallev siflFesid

(®) 2memeus Q&M6L6S HEDPSESLD CUPESTN)
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(7) smedlev afl(Lphg! 6u6ssTr:IE 860

Which among the following is a keystone of Hindu
culture?

(A) Respect to elders

(B) Temple Dharshana

(C) Relationship protocol

(D) Touching feet in respect

13. ey KCmullw ®mBrlH @nSHunailbE
PSst1(56Sleb HL6v auflemws sevor(h Ligss51?
(1) oo

(=) NymetTan

(@) @radlevmbg)

(/) Guigss6v

Which country was the first explorer from Europe

to India?
(A) Holland (B) France
(C) England (D) Portuguese
14. 1917-b oyevoif OsstresllibH el GHemev
SalLLenWwoLl __________ 61637 DHEDIPSHSHLILILL G
(1) HymailL sipsib

(=) QUESHTEET (PTBETHM FralgLd
(@) hlsa

(F) imIunesTenlo &HIW gD

In 1917, the South Indian Liberal Federation came
to be known as

(A) Dravida Kazhagam

(B) Women Improvement League

(C) Justice party

(D) Minority United League

15. 1608-91d 24,6801(H (&T8 B&Hflev (PHev Sprflev

@Qsmlhenenevenw Himieflweury wm?

(o) BMD6N 6V EUETTE

(=) aflevaflwd ammsestsn

(®) Figmoev Gy

(FF) sgml) EmiIBTES

Who established the first English factory at Surat
in 1608 A.D.?

(A) Thomas Stevans

(B) William Hawkins
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(C) Sir Thomas Roe

(D) Job Charnok

16. eunsml QuisssSHett Hemeveury wimy?
(1) Si1gI6v6LT

(=) e2FWG| D150

(@) Blembd sz

(/) =168 @siviomuilev

Who was the leader of the Wahabi movement?

(A) Abdullah

(B) Syed Ahmad

(C) Nizam Muhammad

(D) Ali Ismail

17. Si@QevsevnesoLiflest uemLQu@flest Cung)
gevots: Wy 65 LI6V&601608: 85108 55 60T
oA flwgns QwHSM?

(1) BIEMBST LILSHEMEVESHLPEHLD

(=p) eN&TOET LIELSHEMEVESLPSHLD

(@) L8860 LIELEHEMEVEBHLPBHLD

(FF) surmessTie) LIL&6m605 518D

At the time of Alexander’s invasion Chanakya was
a teacher in which University?

(A) Nalanda University

(B) Vikramasela University

(C) Takshasila University

(D) Varanasi University

18. Aeuiiy Bl eefluflssr Siemevfemd 7000 A nm-ev

31560t S

(A) 7 nm (B) 0.07 nm

(C) 70 nm (D) 700 nm.

Red light has a wavelength of 7000A. In ‘nm’ it is,
(A) 7 nm (B) 0.07 nm

(C) 70 nm (D) 700 nm.

19. QuEBLUIYID (GHL6V Letor GHM6sTM SMTETTTLONETT
unSLeflwib

(=1) @aneds@amGusLf emuGeof

(=) 60QILIBLT HM& &

(®) 6v@LemLIBELIT &T&Hen

() eow&GamunSLlerlwb wuLlf GGsonssin

Learning Leads To Ruling

Prepared By www.winmeen.com

The ulcer is mostly due to infections by a
bacterium called

(A) Helicobacter pylori

(B) Strepto cocci

(C) Staphylo cocci

(D)Nycobacterium tuberculae

20. @& flwesflest Cmuniiy QeuliLifleneo

(1) 2000°C () 6000°C

(@) 15000°C (/) 15000000° C
The surface temperature of the sun is

(A)2000°C (B) 6000° C
(C)15000°C (D) 15000000° C

2l QUH SpevoTigLIwmps @& Hev

u&eng L Epenswllel(phs) e1BSsUILEEMS)
(=) e QLG emL0d 65T

(=) Quesfidlevelsst

(@) opAIGwmemLo&esT

() @&@emm@rmemod et

is an antibiotic obtained
from the blue green mold.

(A) Streptomycin (B) Penicillin

(C) Aureomycin (D) Chloromycin

22. @ BEHSECHTeV eevsganley Smesorliu(HLd
Qunsg Feowwbm  sMjUET  JeEmisserfletr
6T6vvT6v0f1 5608 615 56016017

(=) @uesor® () elpstTo)

(&) Bretis (7) b

How many asymmetric carbon atoms are present
in a glucose molecule?

(A) Two (B) Three

(C) Four (D) Five

23. soow @L&CHEM_UM enL AMl(WpasiuBSSHweur

wimy?

(1) sMoeiv @UMUFL LTELEE

(=) sumesTg MevBTEHT

(®) sumevLiy SiflervL_mevry

(FF) Qeuuary

Who had developed the central place theory?
(A) Thamos Robert Malthus
(B) Vanthunan
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(C) Walter Christaller

(D) Webar

24. X - sflijsemen sevvr(hLilipdSHeury wimj?

(o) umjepest (=) neseTgz60T

(®) elsiv (/) Guoifl-&lwy,fl

Who discovered X-rays?

(A) Bardeen (B) Roentgan

(C) Weiss (D) Mari Curie

25. sevuievoimy  wmflifled  UweTUHSSLILHLD

eeuLIQUINBET wig)?

() em&sm (=) @eumiLen

(@) Nermsivinds (F) Al

Name the raw material used in the production of
glass

(A) Mica (B) Quartz

(C) Plastic (D) Silica

26. AuLGaMGavmslwmenflsiv et6sTn  CrmEMWS
&LSgID 2 uflifl

(=1) wewwTed L&A

(=) Tse-tse (QgL&) U

(@) & usd

() G &

Trypanosomiasis is a disease transmitted by

(A) Sand fly (B) Tse-tse fly

(C) Fire fly (D) May fly

27. b sevvT(HLlplIIN(@ syetTervapetT Gmmuey Lflg:
@ummmr?

(1) sElflwésid (<=4) ser alflevetoy

(&) smLilwev (7) eerflidlesT eflemerey

Einstein got the Noble prize for

(A) Radioactivity (B) Polarization

(C) Relativity (D) Photo-electric effect
28. S1ps&s oL eunnilev 615 L5606 sM06S
LO(THHSH6V6v?

(1) omevgWIMEsT (=) LMpTSWmesT

(@) Gamiliflest (7) Lwimed\evtrest

Which of the following is not an insecticide?
(A) Malathion (B) Parathion

(C) Isoprene (D) Diaginon

Learning Leads To Ruling

Prepared By www.winmeen.com

29. wLeoL GQeueflu@zev 6MHsH  SHMevsHHlev
BemLGILMID

(=1) LIFAINLTIIES, (PedTL

(=) LIBEILML &TevsSleT@LNG)

(@) wrsailLmil &mevld LiletTesTmen

() wrsellLmil BL&EL sTevsHlest QenL Gui

Ovulation generally occurs
(A) Just before menstruation
(B) During menstruation

(C) Just after menstruation

(D) Midway through menstrual cycle

30. euemidflweviLhy WevflFesllesr @NH5HHMG
2 (IH6UNE (G 6uG)

(1) @swid

(=) o6gTEDTTTEL

(&) Szl eTeyIIbL| DEREOF

(FF) LD(EH&6IT 6T6YIIDL| LD(EREDF

Blood is formed in the human adult by the

(A) Heart (B) Spleen

(C) Red bone marrow (D) Yellow bone marrow

31. 60l SieMmevE6IT (I 21L& 5568l (HIHG) LHEMIT(H
eom 555G QFLILEUNG, &HIP&S6EuoTLeUMHM]6T
615651 616 MMM (H5GLW?

(=1) Gousld
(@) Galey

When sound waves travel from one medium to
another medium, the quantity that remain

(=) BT 6uesET

(F) S1emevrBemid

unchanged is
(A) Speed (B) Frequency
(C) Intensity (D) Wavelength

32. wesflgesflsv, wBeuflwm QL (Hesvrevsilullestmev embs
auens QFeva6it UNHS&EULHEMSI?

(1) B6v6ST6L QF6v LHMID QTHS FQULIL| GBS
(=p) Qs Haly SigmiGeeT wLOHYID QTHS
Q616D ETUISTN) | 8861

(®) @55 Heulil AHeBISHSET LHMILD 61 QF6LSH6IT

(m) @ues Heull DiewsssT WwHmID erilGLFuslsh
@ &60&61T
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In human, which types of cells are affected by
Malarial parasite?

(A) Liver cell and RBC

(B) RBC and WBC

(C) RBC and Ty Cells

(D) RBC and Epithelial cells

33. ussneug gHseEIG S (2002-07)

(psoTeniflemio euprisLILILLG)

(=1) aumiend LOHMID WESHET QFHTENS EUETIFSEOWS

GEODSH60

(=p) Si1pliLDL QzMlevssiT

(&) Gouemev GuUMLILIEMLI 2 (TH6UME(ESH6V
() efeugmuid

Tenth Five Year Plan (2002-07) to priority for
(A) Reduction of poverty and population growth
(B) Basic industries

(C) Generation of employment

(D) Priority to agriculture
34. w&seT QNS sHevHOH[BLIY  TH56mevT

SpTTBHEDHES R (PO eTHESILHD

(=) 5 opevE1B BT (=) 10 opev1(HSB6T
(@) 3 opsvET(HEH6T (FF) 20 opevo1(hSH6T

The censusistakenoncein _________ year
(a) 5 years (B) 10 year

(C)3 Years (D) 20 years

35. ewpeoimmeugy (peopwing  emhg  LyLflufledt
GIevoT(5568l60TIT6Y 105861 QB Mens CLHEIWS)

(1) Qeuesotenio Ly

(=p) Siflaflwed Qsmglev miL Lyl

(&) BeoiyyLa

(/) uFemLIL TS

The third expansion of population growth was
stimulated by the

(A) White revolution

(B) Scientific and Industrial revolution

(C) Blue revolution

(D) Green revolution

36. ‘s & (GISHN" 66T QENHOMIL

GLiIGaug
(A) uestTLMRIS6T HMID CFemeussit auifleniu
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(B) srssflwmid Ul LeunLm QubHisens
(©) AL pualu S sems
(D) uessN&EQsmemLemW

Golden Hand Shake is a term used for
(A) Goods and Service Tax (GST)

(B) Automatic Teller Machine (ATM)

(C) Voluntary Retirement Scheme (VRS)
(D) Gratuity

37. @ndHwneflev LEHeusTew GCeusmevullsiTeniow|id,
wenm (s Causnevuilesteniow]d sesoTILI(HLD FHieOMm
(2p) @5mgled Giemm

(7) suewsllasg160m

(1) Geueresoigiemm

(@) Geemeus glevw

In India, seasonal unemployment and disguised
unemployment are found in the

(A) Agricultural sector (B) Industrial sector

(C) Service sector (D) Trade sector

38. Ulesteu(meussteummeit 6151 GCruiws euifl i6v6v?
() QEnsz) ourf

(7)) Gzemeau 6uifl

(1) eu(mpLomest euifl

(®) Qaevey 6uifl

Which one of the following is not a direct tax?
(A) Income tax (B) Wealth tax

(C) Expenditure tax (D) Service Tax

39. (pzevneuz wHsmewH® HLw ___
& Ps eney (P&HWSZleub efls58|

(=1) 2,651 LemioLiL eusrij&d

(=p) efleugmuid

() GamipsTana
(%) eumiemio Bé&He0
The First Five Year plan laid more emphasise upon
(A) Infrastracture development
(B) Agriculture
(C) Industry
(D) Removal of poverty
40. @nHwneilest eJpemwEEnes 16le  (P&HSW
SITJ6UTTLD WNG)|?
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(=1) Gevmeursst Qgmiflev euerjae

(op) LESHET QBTEMS SH(LSHSLD

(&) suporest sTHOSSMPEN

() @bElw sevell (oo

What is the main reason for poverty in India?

(A) Slow developing of industries

(B) Population pressure

(C) Inequality of income

(D) Indian education method

41. ey onfwev FlLalSUy wWEHW  JigEH
SHMEVENID  QUPSSIIEHT  (HYWNGHS HEOEVAIITITEV
Hludssiu@EHestmomy?

(1) SiTAlwed UL ef&) 42

(op) FLLNE 76

(®) 5L o) 44

(F) L efl&) 153

Which Article of the constitution makes provision
for the appointment of a law officer the attorney
general by the President of India?

(A) Article — 42 (B) Article — 76

(C) Article — 44 (D) Article - 153

42. mILmEBWeTSSHlET  QUH  Fal LBISEHEES
@emLuilév H5 G0 HMev PemLGeuer]

(=) eyt LISHBIGET  (3y) BTEOT(E) LOMSHHBIGET

(&) e LD (FF) SbmI oS hIg6T

The maximum permissible gap between two

sessions of parliament
(A) 3 months (B) 4 months

(C)1year (D) 6 months

43. ey FLLID LHHW INFMESSSHd QUiemL
SpL& eopenw HuBSSwGI?

(=1) @bHw seyetidlsy gL L 1b 1861

(=) @HW seystidlev &L L Lb 1892

(@) @BHw siremhis b 1935

(FF) g8m&T FL LI 1947

Which Act introduced Dyarchy at the center?
(A) Indian councils Act 1861

(B) Indian councils Act 1892

(C) Government of India Act 1935

Learning Leads To Ruling
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(D) Independence Act 1947

44. g\(pwevond QFHNLFUME SMiLenLW QFwser
eruflfleflev emawneniiLL Bsiteng)?

(1) Ufley 122 @.5m.5.

(op) Nfley 123 @.5M.5

(@) Vifley 112 @.5m.5

() Wfley 113 @.&m.5

Privileged communications during marriage is
dealt in

(A) Section 122IEA  (B) Section 123 [EA

(C) Section112IEA (D) Section 113 IEA

45. Nigpwinemesor @evevmoBGevGui (1 HevfimbLiy 05|

Q&ww (Pigujid 6TeTTECIFMELEYILD Nifley 6151?

(=1) Ufley 43 (1) 5.5.5-

(<) Ufley 33 (1) &.5.5

(&) Uifley 44 (1) &.B.5

(%) Ofley 32 (1) ©.5.5

Which provision states that a private person may
be arrested without a warrant?

(A) Section 43 (1) CrPC

(B) Section 33 (1) CrPC

(C) Section 44 (1) CrPC

(D) Section 32 (1) CrPC

46. @pHw smiHw sFLLb, 1872 v eueLEYIHI
&([H55186T Qgmjunss Uifle

(=1) Uifley 45 () Nifley 48

(@) Wfley 49 () ifley 47

Opinions of Expert are relevant under
__________ Indian Evidence Act, 1872

(A) Sec 45 (B) Sec 48

(C) Sec 49 (D) Sec 47

47. @l inHlwevenolifley epndgl 17 _____ 60T
QgnLijy 2 6iTeng)

(o) SevoTLMEDILD (=) sumlemLD

(&) wseri () G \pbenBa6i

Article 17 of the Indian Constitution deals with

(A) Untouchability (B) Poverty

(C) Women (D) Children
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48. wefls 2 iflemiw el ungsmillinG
@snLillevevns eupsens CaIH0\SH

(1) Ngglumsvdra 61T LIEHEMLI ATHl6VLD

(=p) aemasstym &ML (etT a1 Lism wmblevld

(&) apeom LM 61T (BLRHEOSHSHET 2 Hall emouiLd

(F) P.A. grom ey LgestLl (p&ijed)

Choose the case law which is NOT connected with
Protection of Human Rights

(A) Prithipal Singh V State of Punjab

(B) Hussainara Khatoon V State of Bihar

(C) Sheela Bharse V Children’s Aid Society

(D) P.A. Sangma V Pranab Mukherjee

49. wHluflév Hlijeuns

Q& mevoT(R6iTeITTIy

SFEMmSens

(1) GaLN6vTL SiemDEETEHET
(b)) @HSIW B lpwine: Gevreveury
(&) iy wHEH

() S1em&FTEm6

Executive power of the union is vested in
(A) Union cabinet

(B) President of India

(C) Prime Minister

(D) Council of Ministers

50. saL (ks GQsneitemen eredUBM(ES CHemeuliLi(HD
(GBS LLE HLIFS6T
(1) epsbroy () Br6ETE

(@) wbs! () b1

What is the minimum number of persons
required to constitute Dacoity?

(A) Three (B) Four

(C) Five (D) Six

51. smeusviflLid QanH&EsUIULL GHM eJHLen]
(=1) QrEzLTs eFHmIs Q& TeTeTLIL LML LNg)
(o) QrssLIs FHMISGSMETETLILI(HLD

(@) uEHws goHmis QamsemiiL(HLD

() uGHWs FHMISHCSTETETLIL LML L g
Any confession made to a police is

(A) Totally inadmissible

(B) Totally admissible
(C) Partly admissible

Learning Leads To Ruling
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(D) Partly inadmissible

52. HeogliuL &@pem L 1952 eor Ulifley 59
efleurfliiug)

(=1) HlevpliuL gmestmeflHgev Libnsl

() 2pBevnigement @0 LD

(®) emrliuLsens ufGenSlliug ubn)

(7)) BevsTL6m6TT LD

Section 5 A of the cinematography Act,

1952 deals about

(A) Certification of Film

(B) Advisory board
(C) Examination of Film

(D) Punishment
53. Swpeumeussteupmien  eu  QrHlwnefleo
SlenobHG 66N ‘LeSl&6iT SMILSLD' 6157

(A) gigeur (B) uggm

(C) mensan(h (D) upSILLT

Which of the following ‘Tiger Reserve' is located in
North India?

(A) Dudwa (B) Bhadra

(C) Kalakad (D) Bandipur

54. @ww wemeouflesr Hemd HLLHHLL
____________ £ Geom 1L LF&6Mm(&GHLD

(=) 2560 (=4) 2460

(@) 2360 () 2400
Himalayanrangelength _________ km.

(A) 2560 (B) 2460

(C) 2360 (D) 2400

55. 2. 60&1CeuCBW Flsns CuslL(Bd Comg) 61g)?
(<)) 16D () pridlevid

(®) Fev1d () NQepe

Which is the most spoken language in the World?
(A) Tamil (B) English

(C) Chinese (D) French
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56. Uiletreu(meuesteumieit embs wnblevgHlev 2 svdlesr

@nevoiLmeug  Uwemwwnest  &Mbg  FjCsmedt
sevo1G Ul SUULLE)?

(=1) Qeueivl. QLIMkISTEY (=) Gaiyerm

(8) SpBSIT (7) ep&m

The World's second oldest magnetic zircon has
discovered from which state of the following?

(A) West Bengal (B) Kerala

(C) Andhra (D) Odisha

57. & flu  wevsievsHlett ‘Bev  Hys’  eTevT

lenpssULbeug) 61517

(=1) L) (=) QF6ueumil

(&) eflwmpest (F) &eufl

Which is called as ‘Blue Planet’ of solar system?
(A) Earth (B) Mars

(C) Jupiter (D) Saturn

58. 2 e0f1CeuBw WlaLGUIflw Sey 618?

(=) Hifstreonbg (©b) LOLBTEVSI

(@) swsm (/) G LN _LetT

Which is the biggest Island in the world?

(A) Greenland (B) Madagascar

(C) Sumatra (D) Great Britain

59. ‘G eamstasHett  Hlwmd'  eTeor
P&ESULIBLD SpMm| 61517

(=1) Gana (o) FOLIGD

(®) snGwnsiy (FF) pmib&srEIgHT

Which river is known as “Sorrow of West Bengal?”
(A) Kosi (B) Chambal

(C) Damodar (D) Ramganga

60. @nsHlwnellev embg wMblevd W&EHENECHTeMD
2 HusSuilev (psev QLD eudHlsEImg)?
(=) B3 eumbIGT6MLD

(o) sgmyssmesHTL

(®) srBILsD

(%) s8lpBGH

India which state ranks first in maize production?
(A) West Bengal (B) Jharkand

(C)Karnataka (D) Tamil Nadu
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61. In how many years will a sum of Rs. 1,600

amount to Rs. 1852.20 at 5% per annum compound

interest?
a.3 b.4
c.5 d.6

e;.1600 opev151 5% eIl Fal B eully efsb

Qanevoi(h a1HemenT pevoihsefley em.  1852.20

fHevL&GIW?
3.3 . 4
9.5 . 6

62. Find the area of the iron sheet required to
prepare a cone 24 cm high with base radius 7 cm
a. 704 cm? b. 702 cm?

c. 700 cm? d. 668 cm?

24 Q&15. 2 WD SYLES ST 7 QF.15. Q& messTL

galbL wflés GCeemeuwinest G(HLOL SH&L g6t LIFLIL

G615,
a. 704 cm? b. 702 cm?
c. 700 cm? d. 668 cm?

63. The sum of the series31+33 +...+53is
a. 729 b. 341

c.504 d. 604

31+ 33 +.....+53 et6t1) QBMLIfl6tT Fa(H'BH6V 6T6DTEBI?
a. 729 b. 341

c.504 d. 604

64. What percent is 5 grams of 1 Kg?

a. 5% b. 1%

c.0.5% d.0.2%

1 £iGeom LymA (g 5 Hymb % eretrevi?

a.5% b. 1%

c.0.5% d.0.2%
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65. Find the G.C. D. of a®-1 and a?-1
a.a>1 b. a+l
c. a1 da-1

as-1, a?-1- 6tr 15.QUIM.6V. ST6vOTS.

a.a*1 b. a+l
c.a-1 da-1
92x18% .
66. The value of —r— i
2 4
a.- b. -
3 9
16 32
= d —
81 243
92x18%

J16— 601 &y

a.z b.2

3 9

16 32

" 81 " 243

67. The cube root of 0.027 is
a.3 b. 0.003
c.0.03 d.0.3
(0.027)stT B60T PLp6VLD
a.3 b. 0.003
c.0.03 d.0.3

68. If "T”’ = b%” = ”T“ = k, Then the value of k is

a.0 b.1

c.2 d. atb+c

a+b b+c cta . . .
— =— =— = k, etevflev k eo1 011y

c a b

a.0 b.1

c.2 d. atb+c

69. The ratio of boys to girls in a class is 45. If the
number of boys is 20, then the number of girls is
a. 15 b.20

c.25 d. 26
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@ au@LILilev 1oMesvTEUS 6T, oNesvTaflWIfH6T ailSlHLD
45, nevoreufseflest erevotevflemas 20  etvflev
wmesorellwiflest etsvotevoflHems

a.15 b. 20

c.25 d. 26

70. At what rate of interest compound interest per
annum will Rs. 640 amount to Rs. 774.40 in 2 years
a.8% b.9%

c.10% d. 11%

2h6501(h Fal (B auliguflev etsttenTt F56155 560 em. 640

2p6018)| @6evsi SpevoT(hSerflev em. 774.40 o4 EW0?
a.8% b.9%

c.10% d. 11%

71. A circus tent is cylindrical to a height of 3 m
and conical above it. If the base radius is 52.5 m
and slant height of the cone is 53 m, find the area
of canvas required to make the tent.

a. 315 m m? b. 3097.5 7 m?
c.2782.5 1 m? d. 2997.5 7 m?

QUh FiSHH6e  FaLmyomeng 35 2.wigupsitem
2 (pemenuiletnifgy say SevwhsnH  Gumestm
allgeusSleVIeieng)l. iH6tT JlgliLse b 52.515 ,
gawilest Fmywgd 5315 erevfley, DGHFaLMYD
SnwEss GCoemeuwnesr  Hsgnett  glevoflulledr
unlenus sevoisEl(hs,
a. 315 152 b. 3097.5 7 15?
C.2782.5 i 18 d. 2997.5 7 152

72. Area of a square is % hectare. The diagonal of
the square is

a. 250 metres b. 100 metres
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c. 502 metres d. 50 metres

QM sZHITHSleT uguueney 1/2  g&sN, erefley
g5I15S\6t1 epemevailLd _____ Oh(SID.

a. 250 5 Lij b. 100 S Lij

c. 50V2 15U Ly d. 50 15U Ly

73. The surface areas of two spheres are in the
ratio 9:25. Then their volumes are in the ratio
a.27:75 b.27:125

c. 81:625 d. 729 :15625

8w Ganemmuseflest LUmULTIUeTey&eT 9:25 er6tTm

allflg5Hl60 2 6iteng). SleunnfletT sHev1 Jyeneyserfledt

allflsd
a.27:75 b.27:125
c. 81:625 d. 729 : 15625

74. The product of two numbers is 1600 and their
H.C.F.is 5, the numbers is

a. 320 b. 1605

c. 1595 d. 8000

B stevmseflett QUEpSH QFnems 1600 wHMID

Ileveuseflest 15..Qum.eu. 5 etevflev etevoTg:efl6tT LS. H.10.

______ Sh(SLD.

a. 320 b. 1605

c. 1595 d. 8000

75. Complete the series1ZA,3 YB,6 XC,10 WD, ?
a.14 VE b.15 UE

c.12VE d.15VE

1ZA,3YB, 6 XC, 10 WD, ? ettt euiflengenw i s.

a.14 VE b.15 UE
c.12VE d.15 VE
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76. A man sells two wrist watches at Rs. 594 each.
On one he gains 10% and on the other he loses 10%.
Find his gain or loss percent on the whole

a.Loss % =90%b. Gain % =5% c.Loss %=1% d.
Loss % =7%

B &&ESRSMTLEIGET eubleunesTenmub em. 594-
&& Qe eflbpny. @eéueunm eflbmHlev 10%
Qevupd  wHWH 10% BLLIPD HOU(HEHS
gHULLE). Quonss5Hl6v eu(HsE eFHULL QevmLLD
316065 BLL EHEIHLD STeToI5.

Sl BLL &56isb = 90%

<. @eoud #&eIHD = 5%

. BLL 56z = 1%

. @evrLid &&eig = 7%

77. The principal amount tripes itself at 8% per

annum over a certain time. Find the number of

years.
a. 20 years b. 25 years
c. 30 years d. 35 years

QM GUUILL Sisenesig 8% eailly eaissHev

THHN6TT pEuI(HSH6NM60 PESTN] WLBISMGLD 616018

560018 ?
a. 20 eu(pLLD b. 25 eupLid
c. 30 su(pLLD d. 35 eu(pLLD

. _V5+V3
78.Find the value: =—=
a.3+/15 b.4 +/15
c.2+/12 d. 4 +V12
&1L SMevor. : AERaE]

V53

a.3+/15 b.4 +/15
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c.2+/12 d. 4 +/12

79. What number should be subtracted from each
of the numbers 54, 71, 75 and 99 so that the
remainders may be proportional?

a.l b.2

c.3 d.6

54, 71, 75 wibmio 99 eT65Tm 626uGI6UI(TH 6T6TTTETH)|LGH)ILD

6hS  CTeuuTenEooIs  SPIHIHML  FH6oT  LOHLD

F0allfl55 560 Q(HHGLD.
a.l b.2
c.3 d.6

80. Six men working 10 hours a day can do a piece
of work in 24 days. In how many days will 9 men
working for 8 hours a day do the same work?

b. 15 days

d. 25 days

a. 10 days
c. 20 days
6 pevurseiT @(H Geuemevemw BMQeMMesTMISHE 10

wesfl Grd Gausmev Q&G 24 B serflev (gL, 9
O46ETBIB6NT , BIGIeNTetTMI5(S 8 Wwevsfl By Cauemev

QEFWFTey, e1HGHemenT BHMLHeflev jeuGeuemeveniu

WipriLi?
a. 10 mrLlgeir b. 15 mrlseit
C. 20 Bl g6 d. 25 Bl seir

8l. G5F W L&D GTLULTWSS) 6T (National
Green Tribunal NGT) HGUIMTeNS W &em6valiy
wrg?

[Al Yweq s Lmlgwm

[B] grrevel Faul_60T& T GLWOMT

[C] ng 60T B Gevm& Iy

[D] @45 76iq GLOMTT GSHITUI6Y

Who is the current chairperson of the National
Green Tribunal (NGT)?
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[A] Piyush Dattatraya

[B] Salvi Swatanter Kumar

[C] Madan B Lokur

[D] Adarsh Kumar Goel

82. 2019 MENA 2_6u&% QUITBHETTSIT LO6TMLD
eTbs BT &erflev HLHS5S1?

[A] eTR1 S

[B] @60t o LILNfl& & T

[C] GamiyLimeor

[D] LlbumiGeu

The 2019 MENA World Economic Forum was held
in which of the following countries?

[A] Egypt

[B] South Africa

[C] Jordan

[D] Zimbabwe

83. 2.6V GeU0TeUOT T 2. & &) LOMBITLLg60 (GWS)
2019 SyeuoTIq60T FIMHSH GQILIMSI 8600600 [
15 MI6UEOTLD 6TEdTMI

@QBHWTeledr 6HS  (LpedTeoTeoni] S L LD
QUOHMSI?

[A] Spsw bS] AnbHs Ermn S LD

[B] DI &I MIGS6T HILLLD

[C] Standup @BHwIT

[D] &TW &mIens B — CHFW Q& MeTends
Which India’s flagship programme has won the
2019 Public Water Agency of the Year at the
Global Water Summit (GWS)?

[A] Pradhan Mantri Adarsh Gram Yojana

[B] Smart Cities Mission

[C] Standup India

[D] Namami Gange

84. @G&sETEmID efwnmGsefley  ergl
LG eneTmmeugl cop of the convention on the
conservation of migratory species of wild animals
LOITIHITL.L9.60T &) 60T6OTLO IM(S5LD?

[A] great hornbill

[B] yellow footed green pigeon

[C] Indian roller

[D] Great Indian bustard

Which of the following will be the official mascot
of 13th COP of the Convention on the Conservation
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of Migratory Species of Wild Animals (COP CMS
13)?

[A] Great hornbill

[B] Yellow-footed green pigeon

[C] Indian roller

[D] Great Indian Bustard

85. National Deworming Day - G& & W L6V LD
&8 Seorid @\bGwmedlev eredrm)
IoIFflEsLLBHMSI?

[A] Cigeurfl 10

[B] Niuyeurf] 11

[C] Nayeurl 9

[D] Niureurfl 8

On which date, the National Deworming Day (NDD-
2019) is observed in India?

[A] February 10

[B] February 11

[C] February 09

[D] February 08

86. “Law, Justice and Judicial Power — Justice PN
Bhagwati's Approach” FLL LD, 59,
BB Sgmmuiler &858 - BEwWrs]T L erer
USUBH UN6T |G UNEMM 6TedTm HIedl 6T
Al wmy?

[A] epev&h S Fm

[Bl eBbCUBST @]

[C] & semi

[D] Ggmed QEmymLigld)

Who authored the book “Law, Justice and Judicial
Power — Justice P N Bhagwati's Approach"?

[A] Mool Chand Sharma

[B] Rupinder Singh Suri

[C] Shashi Tharoor

[D] Soli J Sorabjee

87. 2,65 L(HLIL] HeTD (P (NEMMWITSH
6TH& HmerfleL W Ffl&&HLILLLSI?

[A] reurl 11

[B] LNuyeurfl 9

[Cc] Nageur 8

[D] Ydigeurfl 10

The first-ever World Pulses Day (WPD) is observed
on which of the following dates?

[A] February 11

Learning Leads To Ruling
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[B] February 09

[C] February 08

[D] February 10

88. SM™SHMTRN HGILLID QFHTLMASLILILL
HSITLD 6TSHI?

[A] umeorrm

[B] & medTiLiy

[C] sy &7

[D] awiflggieury

Gangajal Project, which is in news recently, is
launched in which of the following cities?

[A] Patna

[B] Kanpur

[C] Agra

[D] Haridwar

89. eHhs LMBILVSHL, @\HS wmellesr
BemOmeT @MHEMMEFHL 6% Gl QGITHEIG
Lmeuld (Single —Lane Steel Cable Suspension
Bridge) & m& & LILL(H6iTema?

[A] anflomFFeull LNTCSHELD

[B] 9ypevormEseull LNFESH&EFLD

[Clepgam

[Dl 205

India’s longest single-lane steel cable suspension
bridge has opened in which of the following
states?

[A] Himachal Pradesh

[B] Arunachal Pradesh

[C] Odisha

[D] Gujarat

90. 2018 EIU w&&seamml® sreaurflenguilev
@ BB Wmelledr &Iy Hlem6v 6T6oT60T?

[A] 418018l

[B] 544,615

[C] 33618

[D]62 ol aus!

What is the India’s rank at the EIU Democracy
Index 2018?

[A] 41st

[B] 54th

[C]33rd

[D] 62nd
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91. HMeueL QTMUIEFF LHMID CLUTL{p
1,601600T WL & B) 60 (Bureau of Police Research and
Development — BPR&D) LHW Femevenilo

@W&ESHITS BlW & &LILL B eTemeuy
wimg?

A) VH Gseq W&

B) VS Q&emn (V S Kaumudi)

C)RP &Manly

D) @bSeurm Wfbleumey

Who has been appointed as the new Director
General of Bureau of Police Research and
Development?

A) V H Deshmukh

B) V S Kaumudi

C) Indla Srinivas

D) R P Thakur

92. Qyeugl WESHaTemeuUlledr FHMHEHMTEOSH
|6Mm6Us 5 emevel ] (pro—tem speaker) Wimy?

A) eNGeus GFHRITEHSHT

B) efCIBE T Gy (Virendra Kumar)

C) jevflev LNGrmelwim

D) 6Q IS T 6VITEVEUTEDT]

Who will be the pro-tem speaker of the 17th Lok
Sabha?

A) Vivek Sejwalker

B) Virendra Kumar

C) Shankar Lalwani

D) Anil Firojiya

93. pLULMeT() GLHNSS QFmSleumeriy
TS LI BT & &imeor (World Day against Child
Labour) & (5 L1 G\ LIIT(H 6T 6T60T60T?

A) End Child Labour in Supply Chains

B) Children shouldn't Work in Fields, But on
Dreams

C) Generation Safe & Healthy

D) No to Child Labour — YES to Quality Education!
What is the theme of the 2019 edition of World Day
against Child Labour?

A) End Child Labour in Supply Chains

B) Children shouldn't Work in Fields, But on
Dreams

C) Generation Safe & Healthy

D) No to Child Labour — YES to Quality Education!
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94. -0 151:0)) F\ml NeaqL TH S
allememwmL (B 60T QG MTLIFLjemLWeUF?

[A] Wrestling

[B] Hockey

[C] Football

[D] Boxing

Kavinder Singh Bisht is associated with which
sports?

[A] Wrestling

[B] Hockey

[C] Football

[D] Boxing

95. FJeUCHTF CHMTELL 6T FILLg G&HL. & MHMI6UIT
el (p &1 S6iT 2019 @\6L 6T1H S L flaflev @ HSH wim
WsMILLD 19955817

[A] Eco Tourism

[B] TV Cinema Spot

[C] TV Travel Magazine

[D] Innovation

India bagged first prize in which category at the
international Golden City Gate Tourism Awards
2019?

[A] Eco Tourism

[B] TV Cinema Spot

[C] TV Travel Magazine

[D] Innovation

96. 2019 flLerval &SLIgL&EHemev Ufla
QUMM WITy?

[A] Peter Zumthor

[B] Arata Isozaki

[C] B V Doshi

[D] Shigeru Ban

Who is the recipient of the 2019 Pritzker
Architecture Prize?

[A] Peter Zumthor

[B] Arata Isozaki

[C] B V Doshi

[D] Shigeru Ban

97. “eoL&IJ eywedr” (Tiger Women) eTedrm
HS585605 ewSlweury wmy?

[A] Sirsho Bandopadhyay

[B] Joy Goswami

[C] Shahabuddin Nagari
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[D] Alokeranjan Dasgupta

Who is the author of the book "Tiger Woman"?

[A] Sirsho Bandopadhyay

[B] Joy Goswami

[C] Shahabuddin Nagari

[D] Alokeranjan Dasgupta

98. UGSV &MTLLES SMHSET, 6HS
LMHleVE B 6L 3|60)LOH S 6IT6IT60T?

[Al .80 B M6

[B] G geriT

[ClarmmL&sT

[D] 4 b& T LNTCSH&ID

Pakkamalai Reserve Forests is located in which
state?

A] Tamil Nadu

B] Kerala

C] Karnataka

D] Andhra Pradesh

99. mBLUUMeI(h 0.7 FFaUCHEF FTeM6V
UMZISTLL euTIS&Her  &(HLIGLITHET
6T60T6OT?

[A] Road Security A Goal, Not an Intermission
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[B] Leadership for Road Safety

[C] Young Road Users, Including Young Drivers

[D] Walk for Road Security

What is the theme of the 2019 edition of UN Global
Road Safety Week?

A] Road Security a Goal, Not an Intermission

B] Leadership for road safety

C] Young road users, including young drivers

D] Walk for Road Security

100. jevoTeMOUNGL HTEULDMTET EMLISWIHITS

Slervgm, THhS5S5 slemmuilev
L& QLUMMEUTTeUT?

[A] QUTEHETTSTTLD

[B] eugeummi

[C] yelluNwev

[D] <i7& Wiy

Baidyanath Mishra, who passed away recently,
was the renowned personality of which field?

A] Economy

B] History

C] Geography

D] Polity
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Group 4 VAO General Studies Model Test 10 — Answer Key

1) B 21) B 41) B 61) A 81) D
2) C 22) C 42) D 62) A 82) C
3) B 23) C 43) C 63) C 83) D
4) A 24) B 44) A 64) C 84) D
5) D 25) D 45) A 65) D 85) A
6) C 26) B 46) A 66) C 86) A
7) C 27) D 47) A 67) D 87) D
8) B 28) C 48) D 68) C 88) C
9) B 29) D 49) B 69) C 89) B
10) A 30) C 50) C 70) C 90) A
11) B 31) B 51) A 71) B 91) B
12) A 32) A 52) A 72) B 92) B
13) D 33) A 53) A 73) B 93) B
14) C 34) B 54) A 74) A 94) D
15) B 35) B 55) C 75) D 95) B
16) B 36) C 56) D 76) C 96) B
17) C 37) A 57) A 77) B 97) A
18) D 38) D 58) A 78) B 98) A
19) A 39) B 59) C 79) C 99) B
20) B 40) B 60) C 80) C 100) A
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